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n=6;

A=round(rand(n)*10)

AD=zeros(n);

for i=1:n

for j=1:n

AD(j,i)=((-1)^(i+j))*det([A(1:i-1,1:j-1) A(1:i-1,j+1:n);

A(i+1:n,1:j-1) A(i+1:n,j+1:n)]);

end

end

AD

E=AD*A

� ��#7��,1^� run H��UMY� M- J'�V43�0A��
A =

1 5 7 0 7 2

2 0 1 2 7 7

6 0 0 6 1 7

6 3 6 1 5 7

4 0 6 4 4 5
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6 4 0 6 4 6

AD =

5998 266 8426 -2942 -4100 -5291

-3590 782 -4378 718 3340 1771

-1600 664 -2024 320 -16 1760

-1418 338 -1870 2026 -428 253

3320 -1160 6160 -664 -3016 -3652

-4400 -352 -7744 880 4312 4840

E =

-8712 0 0 0 0 0

0 -8712 0 0 0 0

0 0 -8712 0 0 0

0 0 0 -8712 0 0

0 0 0 0 -8712 0

0 0 0 0 0 -8712
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1 5 7 0 7 2

2 0 1 2 7 7

6 0 0 6 1 7

6 3 6 1 5 7

4 0 6 4 4 5

6 4 0 6 4 6
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5998 266 8426 −2942 −4100 −5291

−3590 782 −4378 718 3340 1771

−1600 664 −2024 320 −16 1760

−1418 338 −1870 2026 −428 253

3320 −1160 6160 −664 −3016 −3652

−4400 −352 −7744 880 4312 4840
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8 |A| = −8712, ��/5�V43�0&;
C=AD/(-8712)A�

C =

-0.6885 -0.0305 -0.9672 0.3377 0.4706 0.6073

0.4121 -0.0898 0.5025 -0.0824 -0.3834 -0.2033

0.1837 -0.0762 0.2323 -0.0367 0.0018 -0.2020

0.1628 -0.0388 0.2146 -0.2326 0.0491 -0.0290

-0.3811 0.1331 -0.7071 0.0762 0.3462 0.4192

0.5051 0.0404 0.8889 -0.1010 -0.4949 -0.5556W
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−0.6885 −0.0305 −0.9672 0.3377 0.4706 0.6073

0.4121 −0.0898 0.5025 −0.0824 −0.3834 −0.2033

0.1837 −0.0762 0.2323 −0.0367 0.0018 −0.2020

0.1628 −0.0388 0.2146 −0.2326 0.0491 −0.0290

−0.3811 0.1331 −0.7071 0.0762 0.3462 0.4192

0.5051 0.0404 0.8889 −0.1010 −0.4949 −0.5556
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A=round(randn(7)*10)
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B=A^-1�
B=inv(A)A�

A =

-8 2 15 10 -13 13 -3

-3 0 1 1 9 3 -8

-12 -10 -12 7 0 15 5

-22 -9 0 -12 -6 11 15

10 -4 -11 -5 8 -7 -5

-5 -12 -13 -3 2 -13 -8

3 -11 -3 -12 -10 -1 -2

B =

1.5696 -0.8639 -0.4982 0.8571 2.7693 0.1136 -1.0940

-5.3143 2.8547 1.6964 -2.9638 -9.2585 -0.5090 3.7475

3.7461 -1.9889 -1.2318 2.0947 6.4972 0.3436 -2.6503

2.0060 -1.1059 -0.6184 1.0880 3.4611 0.2055 -1.4460

2.4013 -1.2591 -0.7827 1.3637 4.2346 0.2154 -1.7424

-1.0404 0.5971 0.3649 -0.5858 -1.8053 -0.1412 0.7689

2.4417 -1.3805 -0.7882 1.3909 4.2932 0.2154 -1.7736
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W+Z
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−8 2 15 10 −13 13 −3

−3 0 1 1 9 3 −8

−12 −10 −12 7 0 15 5

−22 −9 0 −12 −6 11 15

10 −4 −11 −5 8 −7 −5

−5 −12 −13 −3 2 −13 −8

3 −11 −3 −12 −10 −1 −2
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1.5696 −0.8639 −0.4982 0.8571 2.7693 0.1136 −1.0940

−5.3143 2.8547 1.6964 −2.9638 −9.2585 −0.5090 3.7475

3.7461 −1.9889 −1.2318 2.0947 6.4972 0.3436 −2.6503

2.0060 −1.1059 −0.6184 1.0880 3.4611 0.2055 −1.4460

2.4013 −1.2591 −0.7827 1.3637 4.2346 0.2154 −1.7424

−1.0404 0.5971 0.3649 −0.5858 −1.8053 −0.1412 0.7689

2.4417 −1.3805 −0.7882 1.3909 4.2932 0.2154 −1.7736
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